
AIR2GO 10/18/2022

AIR2GO TRAILER
PARTS MANUAL



2 FOLEYCO.COM

PARTS LIST

ITEM NO PART N0. DESCRIPTION
1 1/8in R-pin 1/8” Diameter x 2.375” Long Hairpin
2 3711503 1-3/8” ID  Grommet
3 3711502 1-1/2” ID  Grommet
4 AIR2GO-FA Trailer Weldment
5 GO2-17 Flipper Cross Tube
6 GO2-44 Universal Hitch Assembly
7 3209171 HP Shaft Mount
8 3209172 HP Handle Mount
9 TRLR ASSY - 5 Air2GO Right Flipper Fab Assembly
10 TRLR ASSY - 6 Air2GO Left Flipper Fab Assembly
11 TRLR ASSY - 7 Air2GO Tongue Mount Fab Assembly
12 TRLR ASSY - 8 Actuator Assembly
13 TRLR ASSY - 9 Trailer Tongue Assembly
14 TRLR ASSY - 10 Black Release Latch Assembly
15 3711501 2,000 lb. Torsion Half Axles  (Right and Left Included)
16 3711412 Tire and Rim assembly
17 3711157 1/2” Flat Washers
18 Steel Rollers 16” Conveyor Roller
19 94639A895 1.5” OD Nylon Spacer/Roller
20 FPC343.5 3.5” Length x 3/4” Diameter Clevis Pin
21 3060T44 2” x 2-5/8” Square U-bolt
22 FB38161-5 3/8”-16 x 1” Grade 5 Hex Head Bolt
23 3711281 3/8” Lock Washer
24 FB38162.25-5 3/8”-16 x 2-1/4” Grade 5 Hex Head Bolt
25 FB38164-5 3/8”-16 x 4” Grade 5 Hex Head Bolt
26 FNL3816 3/8”-16 Nylon-Insert Locknut
27 3711345 Black Antislip Tape, 6” Wide . SOLD PER FT. NEED 20 FTS 
28 B311201 5/16-18x3/4 Hex Head Bolt
29 K311501 5/16 Split Lockwasher
30 K310001 5/16 SAE Flat Washer
31 3711105 1/2”-20 Wheel Lug Nut 



3

3

8

27

5

15
31

17 16

18

18

9
1

1920

22
23

15

12

24

2651

31

13

6

21

25

14

28

29 7

2

28

10
52

30

4

29

30

16

31

ORIGINAL INSTRUCTIONS

PARTS DIAGRAM



4

Customer Support

Contact Air2G2 Customer Support
Foley Company
1750 Ryden Rd
Prescott, WI 54021

Call: 904-507-8900
Email: air2g2support@foleyco.com
Facebook: facebook.com/FoleyCompany
Twitter: @Foley_Company

Scan on your 
mobile device 
to contact 
customer 
support


